1.  Express the rate of the reaction in terms of each reactant and product.

2 N2H4(l) + N2O4(l) → 3 N2(g) + 4 H2O(g)
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2.  Ammonia is produced by the reaction between nitrogen and hydrogen gases.

(a) Write a balanced equation using smallest whole-number coefficients for the reaction.

N2(g) + 3 H2(g) →  2 NH3(g)

(b) Write an expression for the rate of reaction in terms of [NH3].


[image: image2.wmf]

 EMBED Equation.3  [image: image3.wmf][

]

2t

NH

 

reaction 

 

of

 

rate

3

D

=


(c) The concentration of ammonia increases from 0.257 M to 0.815 M in 15.0 min.  Calculate the average rate of reaction over this time interval.
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4.  Experimental data for the following hypothetical reaction are plotted in the figure.
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(a) Find the average rate over the 10 to 50s interval
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(b) Find the average rate between 20 and 30 seconds. 
(c) Does the rate remain constant over time?

(d) What does the rate depend upon?

The rate is probably dependent upon the concentration of reactants or products.
6.  The equation for the reaction between iodide and bromate ions in acidic solution is

6 I- (aq) + BrO3- (aq) + 6 H+ → 3 I2 (aq) +Br- (aq) +3 H2O

The rate of the reaction is followed by measuring the appearance of I2.  The following data are obtained:

	[I-]
	[BrO3-]
	[H+]

	0.0020
	0.0080
	0.0020

	0.0040
	0.0080
	0.0020

	0.0020
	0.0160
	0.0020

	0.0020
	0.0080
	0.0040

	0.0015
	0.0040
	0.0030


(a) Write the rate expression for the reaction.

http://public.wsu.edu/~hemeteam/Chem116/Worksheets/C116%20Ch15%20Kinetics%20worksheet.pdf
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